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SARDAR PATEL UNIVERSITY
B.Se. Industrial Chemistry
(Semester ~VI) EXAMINATION

Date: T E=L=2022 Course No, :USO06CICH23
5“'@‘4"%5{5&7 (Business Organization and Management)
Total Marks: 70 Time:e.00 qm tof200 pm
Q.1  Answer the given multiple choice questions. [10]
1 Which of the following is a feature of sole propfietorship?
a)Limited liability ¢)Unlimited liability
byDivided risk d)Limited control
Which of the following Torms of organizations suffers from fack of secrecy of aftairs?
a) Partnership ¢)Cooperative
b) Joint Stock Company - ‘DALl of these
3 Decision making problem does not involve ‘
a)ldentification of Problem ¢)Coordination
b)Development of solution : d)AT of these
4 Planning is a ___ type of process.
a)Continuous ¢) Statuesque
b}Discrete d) Limited
5 A long-term plan is for
a) five and mote years ¢) One Year
b) Four years d) less than three years
6 The period during which use of a property is economically feasible is known as.......
: a) Property life b) Service life ¢)Store dife dyNone of these
7 The unit of toxicity is expressed in
. a} LI)5() : b) SD50 C) CDSU d) [)DSU
8 The process of determining “how much to order™ is called
a) EOQ b)Order quantity ¢) Caring quantity ~ d)None of these
g What are the plant layout principles?
a)Storage layout c)Equipment layout
bySafety dy All of them
10 The hazard caused by flammable material depends upon
a) Flash point ¢) Energy release in combustion
b) Auloignition temperature ATl of these
Q.2. Trueor False [8]
1 The form of business in which one individual introduces its capital, uses its own skill
and intelfigence in business is a sole-proprietorship.
2 The partner who only lend their name to the firm as a partner but they do not invest is
known as sleeping partner.
3 The problem of communication arises in line structure.
4 Cost is a'tangible property.
5 ' Tax levied from weapon manuacturing company during war time due to excess
income is called salvage tax. '
6 The formula [or breakeven is F=VIP. ,
7 Patent is one of the legat phases in development of project.
3 Labour is a secondary factor for the plant location. '
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Stort Answer Questions (Attem ptawy 10 out of 12) [20}
What is pdrtnership deed? _

List different forms of organization.

Write about Joint Hindu family Business.

Draw the flow chart of line organization.

List the methods used for technological forecasting,
Write about different types of interviews.

Enlist the sources of short-term capital.

Write about property tax and sale tax.

Explain the terms: Salvage value and Depreciation,
Prepare a list of different 1ypes of reactors,

Enlist various factors involved in project cost estimation.
Explain: Inventory manapgement and Reorder point,

Long Auswer Questions (Attempt any Four) SN [32]
Discuss features of co-operative society. '

Write the characteristics of Ideal Form of Organization.

Explain Henry Fayol’s Principles of Scientific management

Discuss planning and directing functions of management,

Wrile about ditferent types of demand.

Write a note on: Core Concept of marketing,

Which factors are considered during study of pilot plant.

What do you mean by EQQ? Explain any one method used to calcuiate EQQ.
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